BID TABULATION			ENGINEER'S ESTIMATE		WEECO, INC.		TRAVIS HODGE HAULING, LLC		C.L. RICHARDSON CONSTRUCTION	
Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
MOBILIZATION	1	LS	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$4,260.00	\$4,260.00
TRAFFIC CONTROL - LOCAL	1	LS	\$1,500.00	\$1,500.00	\$2,800.00	\$2,800.00	\$1,500.00	\$1,500.00	\$2,831.00	\$2,831.00
EROSION CONTROL	1	LS	\$1,500.00	\$1,500.00	\$900.00	\$900.00	\$1,500.00	\$1,500.00	\$475.00	\$475.00
RESTORATION (TOPSOIL, SEED, FERTILIZE &TYPE 3 MULCH)	1	LS	\$7,500.00	\$7,500.00	\$900.00	\$900.00	\$2,500.00	\$2,500.00	\$2,645.00	\$2,645.00
REMOVALS	1	LS	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$4,280.00	\$4,280.00
18" CMP (ALUMINIZED)	27	LF	\$70.00	\$1,890.00	\$42.00	\$1,134.00	\$92.00	\$2,484.00	\$55.80	\$1,506.60
24" CMP (ALUMINIZED)	20	LF	\$75.00	\$1,500.00	\$48.00	\$960.00	\$120.00	\$2,400.00	\$65.45	\$1,309.00
6'Wx3'H PRECAST RCBC WITH MITERED ENDS & TOEWALLS	42	LF	\$500.00	\$21,000.00	\$356.00	\$14,952.00	\$300.00	\$12,600.00	\$499.60	\$20,983.20
4'x3' TYPE M INLET	1	EA	\$3,000.00	\$3,000.00	\$3,380.00	\$3,380.00	\$2,800.00	\$2,800.00	\$4,055.00	\$4,055.00
4'x5.5' TYPE M3 INLET	1	EA	\$4,000.00	\$4,000.00	\$3,880.00	\$3,880.00	\$3,000.00	\$3,000.00	\$5,025.00	\$5,025.00
8" THICK CONCRETE STREET PATCH	165	SY	\$150.00	\$24,750.00	\$49.00	\$8,085.00	\$60.00	\$9,900.00	\$65.50	\$10,807.50
TYPE 3 ROCK BLANKET W/FILTER FABRIC (1.5' THICK)	30	SY	\$75.00	\$2,250.00	\$28.00	\$840.00	\$35.00	\$1,050.00	\$16.65	\$499.50
TOTAL BID \$88,890.00					\$44,331.00		\$48,234.00		\$58,676.80	
Bid Response						X		Х		Х
Work Authorization Certification					Х		X		X	
Statement of Bidders Qualifications					X		X		Х	
Anti-Collusion Statement					X		Х		Х	
Bid Bond					X		Х		Х	
Signature and Identity of Bidder					Х		X		Х	
Bidders Acknowledgment						X		X		X

			AMERI	CAN PRIDE						
BID TABULATION			HAULING LLC		PLAN B DEVELOPMENT		J.C. INDUSTRIES, INC.		SAPP CONSTRUCTION, INC.	
Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
MODILIZATION		1 10	* 40.000.00	440,000,00	ΔT 000 00	#5.000.00	40.705.00	A0 705 00	A4 500 00	\$4.500.00
MOBILIZATION TRAFFIC CONTROL LOCAL	1	LS	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$8,725.00	\$8,725.00		\$1,500.00
TRAFFIC CONTROL - LOCAL	1	LS	\$2,100.00	\$2,100.00		\$3,000.00	\$6,000.00	\$6,000.00		\$1,000.00
EROSION CONTROL	1	LS	\$550.00	\$550.00	\$2,500.00	\$2,500.00	\$2,700.00	\$2,700.00	\$1,000.00	\$1,000.00
RESTORATION (TOPSOIL, SEED, FERTILIZE &TYPE 3 MULCH)	1	LS	\$800.00	\$800.00	\$1,850.00	\$1,850.00	\$5,200.00	\$5,200.00	\$1,800.00	\$1,800.00
REMOVALS	1	LS	\$5,100.00	\$5,100.00	\$6,000.00	\$6,000.00	\$4,100.00	\$4,100.00	\$2,000.00	\$2,000.00
18" CMP (ALUMINIZED)	27	LF	\$110.00	\$2,970.00	\$53.50	\$1,444.50	\$42.50	\$1,147.50	\$115.00	\$3,105.00
24" CMP (ALUMINIZED)	20	LF	\$135.00	\$2,700.00	\$63.00	\$1,260.00	\$52.75	\$1,055.00	\$110.00	\$2,200.00
6'Wx3'H PRECAST RCBC WITH MITERED ENDS & TOEWALLS	42	LF	\$486.00	\$20,412.00	\$400.00	\$16,800.00	\$420.00	\$17,640.00	\$800.00	\$33,600.00
4'x3' TYPE M INLET	1	EA	\$2,000.00	\$2,000.00	\$5,475.00	\$5,475.00	\$4,000.00	\$4,000.00	\$4,400.00	\$4,400.00
4'x5.5' TYPE M3 INLET	1	EA	\$2,000.00	\$2,000.00	\$5,800.00	\$5,800.00	\$4,600.00	\$4,600.00	\$4,600.00	\$4,600.00
8" THICK CONCRETE STREET PATCH	165	SY	\$80.00	\$13,200.00	\$90.00	\$14,850.00	\$51.50	\$8,497.50	\$60.00	\$9,900.00
TYPE 3 ROCK BLANKET W/FILTER FABRIC (1.5' THICK)	30	SY	\$45.00	\$1,350.00	\$20.00	\$600.00	\$40.00	\$1,200.00	\$34.00	\$1,020.00
TOTAL BID		1		\$63,182.00		\$64,579.50		\$64,865.00		\$66,125.00
Bid Response				INCOMPLETE		Х		Х		Х
Work Authorization Certification			X		Х		Х		X	
Statement of Bidders Qualifications			PARTIAL		Χ		X		Χ	
Anti-Collusion Statement			Х		Χ		X		Χ	
Bid Bond			CASHIER'S CHECK		Х		Х		X	
Signature and Identity of Bidder				Х		Х		Х		X
Bidders Acknowledgment				Χ		Х		Х		X

BID TABULATION			LEHMAN CONSTRUCTION, LLC.		CONCRETE E	,	CAPITAL RAILROAD CONTRACTING, INC.		EMERY SAPP
Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price
MOBILIZATION	1	LS	\$9,500.00	\$9,500.00	\$7,100.00	\$7,100.00	\$4,500.00	\$4,500.00	\$3,600.00
TRAFFIC CONTROL - LOCAL	1	LS	\$2,700.00	\$2,700.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$2,600.00
EROSION CONTROL	1	LS	\$1,900.00	\$1,900.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,300.00
RESTORATION (TOPSOIL, SEED, FERTILIZE &TYPE 3 MULCH)	1	LS	\$3,874.31	\$3,874.31	\$3,000.00	\$3,000.00	\$1,800.00	\$1,800.00	\$13,100.00
REMOVALS	1	LS	\$20,958.31	\$20,958.31	\$12,000.00	\$12,000.00	\$4,500.00	\$4,500.00	\$14,230.00
18" CMP (ALUMINIZED)	27	LF	\$44.00	\$1,188.00	\$67.00	\$1,809.00	\$216.00	\$5,832.00	\$85.00
24" CMP (ALUMINIZED)	20	LF	\$52.00	\$1,040.00	\$84.00	\$1,680.00	\$146.00	\$2,920.00	\$100.00
6'Wx3'H PRECAST RCBC WITH MITERED ENDS & TOEWALLS	42	LF	\$400.00	\$16,800.00	\$590.00	\$24,780.00	\$800.00	\$33,600.00	\$515.00
4'x3' TYPE M INLET	1	EA	\$1,770.81	\$1,770.81	\$4,500.00	\$4,500.00	\$3,260.00	\$3,260.00	\$3,950.00
4'x5.5' TYPE M3 INLET	1	EA	\$1,921.57	\$1,921.57	\$5,400.00	\$5,400.00	\$3,500.00	\$3,500.00	\$4,650.00
8" THICK CONCRETE STREET PATCH	165	SY	\$56.00	\$9,240.00	\$73.00	\$12,045.00	\$68.00	\$11,220.00	\$73.00
TYPE 3 ROCK BLANKET W/FILTER FABRIC (1.5' THICK)	30	SY	\$36.00	\$1,080.00	\$60.00	\$1,800.00	\$70.00	\$2,100.00	\$56.00
TOTAL BID		I		\$71,973.00		\$76,614.00		\$77,232.00	
Bid Response				Х		Х		Х	
Work Authorization Certification				X		X		Χ	
Statement of Bidders Qualifications				X		Χ		Х	
Anti-Collusion Statement				Χ		Χ		Χ	
Bid Bond				X		Χ		Х	
Signature and Identity of Bidder				Χ		Χ		Х	
Bidders Acknowledgment				Χ		Χ		Χ	

BID TABULATION	& SONS, INC.		
Description	Qty.	Unit	Total
MOBILIZATION	1	LS	\$3,600.00
TRAFFIC CONTROL - LOCAL	1	LS	\$2,600.00
EROSION CONTROL	1	LS	\$1,300.00
RESTORATION (TOPSOIL, SEED, FERTILIZE &TYPE 3 MULCH)	1	LS	\$13,100.00
REMOVALS	1	LS	\$14,230.00
18" CMP (ALUMINIZED)	27	LF	\$2,295.00
24" CMP (ALUMINIZED)	20	LF	\$2,000.00
6'Wx3'H PRECAST RCBC WITH MITERED ENDS & TOEWALLS	42	LF	\$21,630.00
4'x3' TYPE M INLET	1	EA	\$3,950.00
4'x5.5' TYPE M3 INLET	1	EA	\$4,650.00
8" THICK CONCRETE STREET PATCH	165	SY	\$12,045.00
TYPE 3 ROCK BLANKET W/FILTER FABRIC (1.5' THICK)	30	SY	\$1,680.00
TOTAL BID	1	I	\$83,080.00
Bid Response			Х
Work Authorization Certification			Х
Statement of Bidders Qualifications	Х		
Anti-Collusion Statement	Х		
Bid Bond	Х		
Signature and Identity of Bidder	Х		
Bidders Acknowledgment	Х		

BID TABULATION	AVERAGE BID			
Description	Qty.	Unit	Unit Price	Total
MOBILIZATION	1	LS	\$5,835.00	\$5,835.00
TRAFFIC CONTROL - LOCAL	1	LS	\$2,548.27	\$2,548.27
EROSION CONTROL	1	LS	\$1,438.64	\$1,438.64
RESTORATION (TOPSOIL, SEED, FERTILIZE &TYPE 3 MULCH)	1	LS	\$3,406.30	\$3,406.30
REMOVALS	1	LS	\$7,106.21	\$7,106.21
18" CMP (ALUMINIZED)	27	LF	\$83.89	\$2,265.05
24" CMP (ALUMINIZED)	20	LF	\$88.75	\$1,774.91
6'Wx3'H PRECAST RCBC WITH MITERED ENDS & TOEWALLS	42	LF	\$506.05	\$21,254.29
4'x3' TYPE M INLET	1	EA	\$3,599.16	\$3,599.16
4'x5.5' TYPE M3 INLET	1	EA	\$4,034.23	\$4,034.23
8" THICK CONCRETE STREET PATCH	165	SY	\$66.00	\$10,890.00
TYPE 3 ROCK BLANKET W/FILTER FABRIC (1.5' THICK)	30	SY	\$40.06	\$1,201.77
TOTAL BID	1	I		\$65,353.85
Bid Response				
Work Authorization Certification				
Statement of Bidders Qualifications				
Anti-Collusion Statement				
Bid Bond				
Signature and Identity of Bidder				
Bidders Acknowledgment				